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QUESTION 1

Which two of the following statements are true regarding Magento configuration scopes? (Choose TWO.)
A. "Websites" contain "Stores".

B. A "Store" can be associated with multiple "Websites".

C. A "Store View" can be associated with multiple "Stores".

D. A "Store" can be associated with multiple "Store Views".

E. Multiple "Websites" can share a "Store View".

Correct Answer: AD

QUESTION 2
What is the difference between "display: none" and "visibility: hidden"?

A. The "display: none" rule removes the element from the DOM. The "visibility: hidden" rule leaves the element in the
DOM.

B. The "display: none" rule leaves the element in the DOM. The "visibility: hidden" rule removes the element from the
DOM.

C. The "display: none" rule removes the space used by the element from the page. The "visibility: hidden" rule reserves
space on the page for the element.

D. The "display: none" rule reserves space on the page for the element. The "visibility: hidden" rule removes the space
used by the element from the page.

Correct Answer: C

QUESTION 3

What is the total width of a block-element styled with the following CSS?
#example

widths Z203pu;

border: lox solid #333;

margin: 1Jdpx;

padding: 15px;

A. 200px

M70-301 VCE Dumps | M70-301 Study Guide | M70-301 Braindumps 2/4


https://www.passapply.com/m70-301.html
https://www.passapply.com/m70-301.html
https://www.passapply.com/m70-301.html

VCE & PDF https://www.passapply.com/m70-301.html
2024 Latest passapply M70-301 PDF and VCE dumps Download
PassApply.com

B. 202px

C. 222px

D. 232px

Correct Answer: D

QUESTION 4

Which of the following will render the custom content block custom, name to a page based on the native
3columns.phtml template?

© A

<reference hame="root">
<block type="core/text 1list" name="1eft" as="left" translate="label">
<block type="core/template" name="custom.name"
template="page/html/custom.phtml" />

</block>
</reference>
~ B. <reference name="root">
<block type="checkout/onepage" name="checkout.onepage"
template="checkout/onepage.phtml">
<block type="core/template" name="custom.name"
template="page/html/custom.phtml" />
</block>
</reference>
© C. <reference name="catalog.topnav">
<block type="core/template" name="custom.name"
template="page/html/custom.phtml" />
</reference>
© D. <reference name="checkout.cart">
<block type="core/template" name="custom.name"
template="page/html/custom.phtml"” />
</reference>
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 5

Given the following HTML code, how are the divs "#columnl”, "#column2", and "#column3" displayed on the page?
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<style>

.container { width: 600px; }

.col { border: lpx solid #000; float: left; width: Z00px:
</style>

<div class="container":>
<div id="columnl" class="col"»></div>
<div id="columnz" clags="col"></div>
<div 1d="column3"™ class="col"></div>
</div>

A. The 3 divs are displayed side-by-side and their borders are adjacent to each other.

B. The 3 divs are displayed side-by-side; however their borders overlap with each other.

C. The divs "#columnl" and "#column2" are displayed side-by-side. The div "=column3" appears below " # columnl".

D. The divs are displayed on top of one another.

Correct Answer: C
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